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Fs MRS I R & BES MIERSR | ERS | 2SR | REHENEK
1 FTC22082808 | #XMi&E | ZB+4H 440229199312 xxswx 80 90 86.00 =
2 FTC22082808 | #tXMiEKHE | So*&= 441523199804 x#xxxx 80 88 84.80 =
3 FTC22082808 | #LX 4% 5 7+l 421081199501 #xxskx 78 87 83.40 =
4 FTC22082808 | #HXMigHE | $h1% 441621199604 x#xxwx 74 89 83.00 =
5 FTC22082808 | #tXM#&E&E | X*x= 445122199606 x#* s 71 90 82.40 2
6 FTC22082808 | #tXMIER | EX+E 36072220001 2 x#kxxx 78 85 82.20 =
7 FTC22082808 | #tXMIRHE | 1R+ 3625241999712 #xxxnk 69 91 82.20 =
8 FTC22082808 | #tXMIEZR | F|*H 341181199710 #xxxxx 85 80 82.00 =
9 FTC22082808 | #XMigHE | $+& 440982199103 *xxwx 80 83 81.80 =
10 FTC22082808 | #tXMigR | FHK+E 140511199410 ##xxk% 77 85 81.80 =
11 FTC22082808 | #XMig&E | {7+3E 440301199802 *xxx 72 88 81.60 =
12 FTC22082808 | #tXMM4% & H* 360722199504 ##xxx 72 88 81.60 =
13 FTC22082808 | #LXM#% 5 =R 441322199704 xxxxkx 66 90 80.40 =
14 FTC22082808 | #tXM4% 5 Zx 410104199707 x#xsxsx 76 83 80.20 =
15 FTC22082808 | #XMig&R | FB+E 440582199407 sk 71 86 80.00 2
16 FTC22082808 | #tXMAIZE | SR+ 4403011993071 x#xxxx 65 90 80.00 =
17 FTC22082808 | #LX 4% 5 F-n 350521199403 sk 81 79 79.80 =
18 FTC22082808 | #tXMIER | F|*& 441381199504 x#xxxx 72 85 79.80 =
19 FTC22082808 | #HXMiEHE | Br«% 420683198805 *x 66 89 79.80 =
20 FTC22082808 | #tXMigR | 2 440305199512 x#sksxk 70 86 79.60 =

21 FTC22082808 | #XMigHAE | E+F 370682199710 #xxxxk 68 87 79.40 2
22 FTC22082808 | #LX[M4% 5 eSS 360427199812 x#skxxk 78 80 79.20 =
23 FTC22082808 | #XMi&HE | #H+H 440825199607 #xkx 69 86 79.20 =
24 FTC22082808 | 11X M1%5R RHIE 445122199110 %xsx%% 68 86 78.80 =
25 FTC22082808 | #LX 4% 5 MR*IK 445281199512 xxxxkk 68 86 78.80 =
26 FTC22082808 | X Mi% R Zx 610526198806 *#*xxx 75 81 78.60 =
27 FTC22082808 | tXM4& R JC* 411222198709 ##xxx 85 74 78.40 =
28 FTC22082808 | #XMi&HR | IB+¥ 440801199607 ##xsxx 65 87 78.20 2
29 FTC22082808 | #HXMiEHRE | ZF+X 440883198905 *#xx 72 82 78.00 =
30 FTC22082808 | #tXMIERA | H*f+ 440307198902 x##sx* 60 20 78.00 =
31 FTC22082808 | tXM4& &R R 441424199610 ##xxx 76 79 77.80 =
32 FTC22082808 | X Mi% R ZH 441523199406 x##xxx 65 86 77.60 =
33 FTC22082808 | #tXMAIZFE | RAR(F | 430223199612 +xxrwx 73 80 77.20 =
34 FTC22082808 | tLXM4& R e+ 35k 440202199707 xxxxkx 67 84 77.20 2
35 FTC22082808 | X M™% 5R KB+ 441602199811 x#sksxxx 61 88 77.20 =
36 FTC22082808 | #tXMigHE | $+Fk 441622199610 *xxwxx 65 85 77.00 =
37 FTC22082808 | #tXMIEHR | Z*ZL 500102198611 x#kxxx 65 85 77.00 =
38 FTC22082808 | #LX 4% 5 | 432524199103 ##skxxx 65 85 77.00 =
39 FTC22082808 | #tXMIEHR | #M*& 445224198706 x##sxxk 63 86 76.80 =
40 FTC22082808 | #XMig&E | E+#h 440301199810 *xxwx 70 81 76.60 £
41 FTC22082808 | #tXM4% 5 =04 440307200010 %##xxx 67 83 76.60 =
42 FTC22082808 | #XM#&&RE | faF 441481199702 xxsksxsx 61 87 76.60 2
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43 FTC22082808 | #+X M™% R D« 441381198811 x#wxxx 61 87 76.60 =
44 FTC22082808 | #XMIEFE | XI+@F 142431199503 #xxxxx 59 88.3 76.58 2
45 FTC22082808 | #LX 4% 5 | 430624199105 ##s#+xxx 71 80 76.40 2
46 FTC22082808 | X Mi% R y* 421125199208 x#s#sxxx 65 84 76.40 =
47 FTC22082808 | tLXM4& R ZEx 441424199801 ##xxx 62 86 76.40 =
48 FTC22082808 | X Mi%5R Z2 3} 440921199503 x#s#sxxx 69 81 76.20 =
49 FTC22082808 | #tXMigHE | Z=+§i 440301199108 #xxx 66 83 76.20 =
50 FTC22082808 | X Mi% R XiJ* 432524198907 xxxwssx 63 85 76.20 =
51 FTC22082808 | #XMigHE | Z=+1% 441622199310 *xxwx 64 84 76.00 =
52 FTC22082808 | #XMi&R | BB 360722199608 *xxxxx 61 86 76.00 2
53 FTC22082808 | X Mi% R KB+ 440582200202 x##xxx 69 80 75.60 =
54 FTC22082808 | #XMi%A REx 420703199905 *#xsx 60 86 75.60 =
55 FTC22082808 | #tXMigR | M 441581199010 %##sxxx 64 83 75.40 =
56 FTC22082808 | #LX 4% 5 Z 5 445224198611 xxxwkx 61 85 75.40 =
57 FTC22082808 | X Mi% R ERE 440202199907 x#s#sxx 71 78 75.20 =
58 FTC22082808 | #XMIgHE | #H+E 440304199807 *xxwex 63 83 75.00 =
59 FTC22082808 | #1+XMi% R -2 450681199203 x#s#xxx 60 85 75.00 =
60 FTC22082808 | #LXM#% 5 NG 445121199802 xwxkx 67 80 74.80 =
61 FTC22082808 | #tXMi%5 R+ 440281199211 s 64 82 74.80 =
62 FTC22082808 | X Mi% R iz gyl 362524199906 x##xxx 61 84 74.80 =
63 FTC22082808 | #XMi%A B2 362233198610 #xxxxx 68 79 74.60 &=
64 FTC22082808 | X Mi% R RUR 432524199607 xxxwwx 61 83 74.20 =
65 FTC22082808 | *LX 4% 5 = 500229198901 s 71 76 74.00 i
66 FTC22082808 | X Mi% R E 362401199204 x#swxsx 71 76 74.00 =
67 FTC22082808 | #XMiIER | KB 441622199405 xxsssx 59 84 74.00 =
68 FTC22082808 | #tXMIERHR | Kk 421127199701 xsksxsxx 69 77 73.80 &
69 FTC22082808 | X Mi% R E 2PN 441823199406 *xxxkx 60 83 73.80 =
70 FTC22082808 | #LX 4% 5 BRI 445222199405 x#xxwx 67 78 73.60 =
71 FTC22082808 | X Mi% R EF 320802198908 x#xxxx 74 73 73.40 =
72 FTC22082808 | #LXM#% 5 Bk 440582199802 ##sx 65 79 73.40 =
73 FTC22082808 | X Mi% R 5i*2n 441581200107 #xsxkx 65 79 73.40 =
74 FTC22082808 | #tXMIEHE | = 441881199903 #xxx 66 78 73.20 %=
75 FTC22082808 | *XMigR | & 500110199901 x#skxxx 60 82 73.20 =
76 FTC22082808 | #XMi%A #* 431225199804 *xswx 70 75 73.00 S
77 FTC22082808 | #tXMAIRE | *o+E 441502198703 #xxkxx 58 83 73.00 &
78 FTC22082808 | X Mi% R MxK 440883199001 #x#skx 58 83 73.00 =
79 FTC22082808 | #XMigHE | E+F 130281199608 #xxxxx 59 82 72.80 &=
80 FTC22082808 | X Mi% R B r 430422199309 x##sxxx 60 81 72.60 =
81 FTC22082808 | #tXMi%5 =R 441481199303 ks 59 81 72.20 =
82 FTC22082808 | X Mi% R L 360723199411 xwwxsx 72 72 72.00 =
83 FTC22082808 | #LX 4% 5 B2k 441427199412 xxsnnx 67 75 71.80 =
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84 FTC22082808 | *tXM4% 7 YA 362430198805 ##xxx 58 81 71.80 =
85 FTC22082808 | X Mi% R FreE& 441581200007 s 60 79 71.40 =
86 FTC22082808 | #XMIER | K*= 445222198904 s 64 76 71.20 =
87 FTC22082808 | #XMIER | T+ 441523199811 xxxsrx 65 75 71.00 &
88 FTC22082808 | #LX[M#% 5 Zx 431223199203 %sxkx 59 79 71.00 =
89 FTC22082808 | X Mi% R 5+ FH 412721198803 *xxxkx 59 79 71.00 =
90 FTC22082808 | #LX 4% 5 %15 440307199711 #xswkx 69 72 70.80 =
91 FTC22082808 | X Mi% R g 441881199005 *x#sx 63 76 70.80 =
92 FTC22082808 | #XMIgHE | #*= 362330199203 #xxxxx 60 78 70.80 %=
93 FTC22082808 | #LX[M#% 5 FL+8k 420683199904 ##sxxx 70 71 70.60 =
94 FTC22082808 | *tXM#& & E+i 445281199607 x#xxrx 64 75 70.60 &
95 FTC22082808 | *LX 4% 5 30 440582199005 ##s#+x 58 79 70.60 =
96 FTC22082808 | X Mi% R R+ 411302199005 x#s#sxsxx 59 78 70.40 =
97 FTC22082808 | #XMi&HR | FE+iE 510521199002 #xsxk 70 70 70.00 &
98 FTC22082808 | #tXMIERR | =3 440785199710 %k 61 76 70.00 =
99 FTC22082808 | #XMi& R ok 440882199701 ##xxx 67 71 69.40 &
100 FTC22082808 | X Mi% R [B+& 430481199907 xwwssx 58 77 69.40 =
101 | FTC22082808 | #tXM1iER | H+I& 450722199108 xxxxxx 75 65 69.00 %=
102 | FTC22082808 | HXMIER | Ze+HE 450411199805 x#xxxx 66 71 69.00 &
103 FTC22082808 | X Mi% R HE 450921199802 s 67 70 68.80 =
104 | FTC22082808 | HMXMIER | H+& 440882199406 *xxx 60 74.45 68.67 F:S
105 FTC22082808 | X Mi% R B 441426199709 *xwsx 66 70 68.40 =
106 FTC22082808 | *LX 4% 5 Fihik 441422199608 ##sxxx 61 73 68.20 i
107 FTC22082808 | X Mi% R = 429006198802 s 74 64 68.00 =
108 FTC22082808 | *LX 4% 5 R 450422199206 *sxkx 59 74 68.00 =
109 FTC22082808 | X Mi% R B 440582199807 x##xxx 60 73 67.80 =
110 FTC22082808 | X Mi% R 555 430523198904 s 61 72 67.60 =
111 FTC22082808 | #XM#EHR | E*W 440881199504 x#xsxxx 60 72 67.20 =
112 FTC22082808 | X Mi% R Bax 522328199210 x#swxxx 61 71 67.00 =
113 | FTC22082808 | #XMigHR | Tk 622826198202 * sk 58 73 67.00 %=
114 | FTC22082808 | #XMIEHR | & 441381198802 x#xxxx 66 67 66.60 =
115 | FTC22082808 | #tXM#&H £ 431002198909 *xxsx 68 65 66.20 %=
116 | FTC22082808 | #XM1i&R =+ 430527200009 x#xxxx 59 71 66.20 =
117 | FTC22082808 | #tXM#&H F* 4502212000071 ##sxwe 64 67 65.80 S
118 | FTC22082808 | #XM1&R Bt 440582199209 x> 63 67 65.40 =
119 FTC22082808 | X Mi% R £ 430405198711 xwesx 58 70 65.20 =
120 | FTC22082808 | #XM#& R R+ 421127199107 xssx 65 65 65.00 &
121 FTC22082808 | X Mi% R o 440303199612 x#wxsxx 60 68 64.80 =
122 | FTC22082808 | #tXM#&H * 4305221992071 s 60 67 64.20 &=
123 FTC22082809 | t-XMi% R S 445222199712 xswsxx 66 85 77.40 =
124 | FTC22082809 | *XMiEHR | &+ 370683199710 *#xxxx 64 85.6 76.96 =
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125 | FTC22082809 | #EXMIER | £+ 445221199904 ##ss 58 80 71.20 =
126 | FTC22082809 | HXMIER | Z=+H 440514200102 ###xxx 70 71 70.60 2
127 | FTC22082809 | #XMi&Z | =R+ 440982199806 *#x#x 66 70 68.40 =
128 | FTC22082809 | #XM1& R s3] 440304200007 x#sxxx 58 64 61.60 =
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